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3. FEARG

% # Y] By w0 w =
BEH kAL B ¢ 75m L=600 * 440 |
Rkt B ¢90m L=600 & 620 |ps
BEH kA BE% ¢ 110m L=600 * 810 s
Rt B ¢150mm L=600 & 1.060 |pe
FEEHOKALE L3 ¢ 75mm X 670
Rkt LEE ¢90m & 960
B KAt LEE ¢110m & 1,210 @
Rkt LEE ¢ 150m & 1.600
EEHKALE TFEE ¢75m HYTv b & 900 TRE KV 7y M)
BEHKELE TEE 6%0m KUy b & 1,370 U%
B KAt TEE 75m @Yy b & 1,370
BRIk TFE ¢90m @YY v b & 1,900 | THE @Y7
BESKALE THE ¢110m AR * 1,760 D%ﬂ
Rt THE 6150m AZ & 2,280
B KAt +3% ¢75m & 1,760
Rkt +5% ¢ 90m & 2. 600
Bkt +3% ¢110m & 3,220 U%%]
Rt +5% ¢150mm & 4,300
KAt ®F 675m vV UERERT & 340 D]:]
Rkt $F 600m VUEESE & 490
B KAt BEE 6 75m & 200 @%HE
Rkt BEE ¢90m & 300
RE = HE K A KRS ZKFEKEE  75mm & 10, 500
RS 7k Ak 0y FKE 75m @ 1.650
SR kA B 3 @ 8.600 | 47kg
SHIR K A 4 Ic 9.400 | 49ke g
$t X HE oK 5 K # H700%! (400%740%230) & 13,700 65kg
DIFERy O R (BEELG) 650%! (650 x 650 % 650) & 43,200 | (T-14F8) 305kg
DIFERY O R (BEELG) 800%! (800 x 800 x 700) & 58,400 | (T-14F)420kg
FETOvs 400% & -
HiETOvs 6005 * 3.740 | 6lkg




